700174

No. of Printed Pages : 7

T

'LANGUAGE — PartI — URDU — Paper I

6205

(Prose, Poetry and Grammar)

Time Allowed : 3 Hours ] | _ [ Maximum Marks : 100

U I U ST FE (1) L
_ggu:wfpﬁ‘fdﬁ(’”&p (ii)

4x2=8 bl rl e SAL s
(Answer any four of the following.)

¢ ‘L(.g(u,,’.( "‘4.({,3?:‘4,5,‘?;’”/&5&./ 2 1
S CIFEEI 2
“EuknSS6F 3

e S Efpfi Tyt 4
C et/ Ll 5
C e bblUFedHE 6

3x4=12 | il U2 Bzl Sl S I
(Answer any three of the following.)

el f i Sl 7
¢ WU KT 1l P> 8

[ Tutn over




3x4=12

.

1x8=8

¢ ufc—u;‘r’lffﬂfuﬂléjgl 9

S LK SaUn L7l 10

et/ bl L Gdugdre 1

-yl u;}’wﬁalﬁ/z-éa(,wéuﬂrddfégb

(Answer any three of the following.)

“Huebondd 12
¢ LUV 13
¢ NS Flenll 24

Sl VS a5

¢ | ,'eiit«a{c,,/é a2UPE 16

AR I5T |

(Answer ahy one of the following.)

LGl a7

-’Z‘;(‘jbg)? (5/}((” “Q.(;u” 18

_E WIS KU Pl e 19

JIT

IV



3 6205

ax1=4 = - e _gﬂggtzéouv‘fd_’e’_v;;/ww@p v
. (Answer any one of the following.)
Adllen feip g 20
' k.?!c.m):_h‘ab/&idie;/{
¢ K e ()
- ?c‘-kfgb.)l?fu/c,u» (o)
A AN O
._él:.c’:”cﬁ“:«jf'” ()
L o
_uﬂtfuwawu’uuéutg - m/uwwmfw 21
| Cte AL (U
?V‘aﬂ/gd//@cwjﬁulgulu,v‘ﬁ‘g (&)
Lt @)
e bF L es” ()

e B A v

| ~ (Quote from memory the following lines.)

4+2=6 | (<F) bl = ety 2
242=4 (B L?:'«l::« _ & J}uyi}; 23

2x2=4 - - -éﬁg}/“?‘&w’?_uu; 24 VI

(Answer any two of the following.)

VAN ok (D A7 ()
Ad O = O IO )

[ Turn over




6205 = 4

3x2=6 \ o -“gigj."d/uﬂfrc,uﬁd;

(Answer any three of the following.)

| it (@) L (D) e ()
Lbes S 0oy O B ) g O
2x2=4 ' R ;".~¢,g1z£,)_5/£¢5
(Answer any two of the following)

E Al ()

E e (O

Eafl A @

Lbe_ cypfbz O

| o Ee @)

: e Eullla2y )

1x_4%4 | | Y or BN RN

(Answer the following with reference to context.)

bnu?u//: ’4: ‘%UL"‘{M.’;_,’@;?

L’Lgﬂ/x"b KUU’;‘L O8] Jw

1x4=4 h | . " AP AL S
| ‘ (AnsWer any one of the following.)
| | & brnle Shloss i i
olog AR
L |
S8l s 174
4.:(3[&3(/5:231(4_;[2;’:»‘5

25

.26

27

28



5

U/ 9L 6}3;&»(

6205 .

4x1=4 T I St VI
| (Match the following.)
e i
(st ks (@ : iéfzféig 29
Unof LA (b) ZLé 0 30
CePF Witl e 31
) o F () et m
16x1=16 -,gdu:g4L}lz'%!L/_.,§'fK_,,izé‘£¢s IX

(Choose the correct answer from the given option.)

. e Neer 33

et @) S () kg ()
| J6di__ < 34

‘rw.f @) e () re ()
£ el Sunbife” 35

Jottr @) sy (L) JBIF (L)
| -‘a&ﬁ‘fdf;gu:e/!»;_élﬁ} 5 36

g @ de (D) £ ()
| LG a7

@) e () )

[ Turn over




6205

oL‘/’)LKgﬂ}

)

-

Jas

G
N

Jb;»(g

e

APAIA

[ })

@)

@)

@)

@

@)

@)
@)
@

@)

sttt ()

& __

26/

)

—é-t’z(?l‘cf—f/l.uugt‘
NI A )

Sie T e A8

Zf.)"/ ((]))

_Unlbn SurbE ep

U ()

- o((]}d/rd)l/,
by (L)

‘LT&C"’J/%JE/'(__ )u.,g

()
B (D
g ()
6 ()

(o)

Gaois

il ()

&K 1950 (52 /26
Juriey ()

-U.?g - dgﬂ’fdiﬁjg}l

¢

s ()

N l‘g’,&fmé/w}ty@wéf%

74 )
2 ()

J’J?"J ()]

38

39

40

41

© 42

43

45

- 46



2x2

- ¢J;77L$)P.’

~
¢

z @) g (D)
e P51 (R eSS (&)

-00o0-

- 6205

LG AL T g a7
| S ()

e Pl 48
P Sus ()

S GALe
(Fill in the blanks.)

u’f » ¢ lg@) 49

f_____ D’C—b.f-z
AT Ol 50

-

¥ Y 2Lyl Tae







